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(-8x—15y+72)=0
1. Solve
(-9x—9y+18) =0

(i) (-6,8) (i) (-6,7) (i) (-6,6) (iv) (-5,8) (v) (-4,8)

5x—=y+5) =0
2. Solve( y+3)
(-2x—y—3)=0

-10 -10 -5 -8 -5

(i) ((-7),-1) (i) (( 9 ),-1) (iii) ((-9 ),(-7)) (iv) ((-7).(- ))

(=2x+2y+1)=(-5)
3. Solve
(—4x+5y+3)=(—-3)

(i) (12,4) (i) (10,6) (i) (9,6) (iv) (12,5) (v) (10,5)

(x+2y+5) =(3x+5y+4)
4. Solve
(=3x+2y—4)=(2x+5y-5)

, N 1 . -1 1
(i) (1,1) (i) (1,-3) (iii) (2,1) (iv) (2,(--3--)) (v) (0.-3)

5. Solve(_zx-l_y-|_15)=0
(7x—56) =0
(i) (8,1) (i) (11,1) (ii) (8,-1) (iv) (9,1) (v) (8,0)

4x—-y-2) =0
6. Solve( y=2)
(2x=3y-5)=0

(i) (i 2) (ii) (i 2) (iii) (l (-—8')) (iv) (i (f))
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(2x+2y—-1) =(-3)
7. Solve
(—4x+4y—4)=(-4)
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(—4x+y—4)=(2x+5y+4)
8. Solve
(x+5y—-2) =(=x—-3y-1)

(i) ((2) 1—1) (ii) ((ﬂ) 1—1) (iii) ((f) 1—1) (iv) ((f) i) (v) ((ﬂ) 1—1)
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(12x+6y—18)=0
9. Solve
(7x+9y+39) =0

(i) (6,-10) (i) (6,-11) (i) (6,-9) (iv) (8,-9) (v) (7,-9)



10. solve' 3X73y+2)=0
—-3x-2y—-2)=0
(i) ((—),2) (i) ((—),3) (i) ((
11. solve  2XtyT3)=2
(-4x-5y) =0
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12. Solve

3
(i) (0,2) (i) (-1,'2) (iii)

(=x+y+1) =(3x+5y-1)

(=2x+5y—-2)=(—4x—y+5)
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2

)

(iv)

(03
2

)

(v)

(1,2)



Assignment Key
1) (i) 2) (iv) 3) (iii) 4) (v) 5) (i) 6) (iii)
7) (iv) 8) (v) 9) (iii) 10) (iii) 11) (v) 12) (ii)
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